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Independent Samples Test

,027 ,870 -4,634 41 ,000 -11279,437 2434,198 -16195,4 -6363,476

-4,648 40,714 ,000 -11279,437 2426,606 -16181,1 -6377,761

10,075 ,003 3,224 41 ,002 227,815 70,666 85,101 370,529

3,152 21,014 ,005 227,815 72,282 77,502 378,128

1,265 ,267 ,492 41 ,626 264,810 538,652 -823,020 1352,639

,488 36,912 ,628 264,810 542,349 -834,183 1363,802

3,863 ,056 1,496 41 ,142 439,316 293,729 -153,882 1032,513

1,507 38,063 ,140 439,316 291,477 -150,717 1029,348

,494 ,486 -1,051 41 ,299 -,236 ,224 -,689 ,217

-1,050 40,707 ,300 -,236 ,225 -,690 ,218

,564 ,457 -2,310 41 ,026 -2336,659 1011,492 -4379,409 -293,909

-2,299 38,486 ,027 -2336,659 1016,541 -4393,685 -279,632

1,917 ,174 -3,394 41 ,002 -905,314 266,724 -1443,974 -366,653

-3,429 35,806 ,002 -905,314 264,041 -1440,915 -369,712

,010 ,919 2,773 41 ,008 230,951 83,296 62,732 399,170

2,788 39,723 ,008 230,951 82,849 63,471 398,431

,031 ,861 -4,652 41 ,000 -1224,764 263,258 -1756,424 -693,104

-4,664 40,883 ,000 -1224,764 262,625 -1755,193 -694,336

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Adjusted off-farm income
per adult equivalent (Mtc)

Adjusted income cash
crop income per adult
equivalent (Mtc)

Adjusted income
microenterprise activities
per adult equivalent (Mtc)

Annual value of
production per adult
equivalent (Mtc)

Number of durable
assets

Annual value of food
expenditures per adult
equivalent (Mtc)

Annual value of non-food
expenditures per adult
equivalent (Mtc)

Total annual labour
worked on farm per adult
equivalent (hrs)

Total annual labour per
adult equivalent (hrs)

F Sig.

Levene's Test for
Equality of Variances

t df Sig. (2-tailed)
Mean

Difference
Std. Error
Difference Lower Upper

95% Confidence
Interval of the

Difference

t-test for Equality of Means
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Independent Samples Test

,022 ,884 -,754 41 ,455 -,366 ,485 -1,346 ,614

-,753 40,649 ,456 -,366 ,486 -1,347 ,615

1,600 ,213 3,312 41 ,002 1,680 ,507 ,655 2,704

3,298 39,154 ,002 1,680 ,509 ,650 2,710

9,002 ,005 4,658 41 ,000 2,043 ,439 1,157 2,929

4,597 30,406 ,000 2,043 ,444 1,136 2,950

,737 ,396 3,581 41 ,001 ,487 ,136 ,212 ,762

3,574 40,383 ,001 ,487 ,136 ,212 ,762

28,870 ,000 6,132 41 ,000 ,669 ,109 ,449 ,889

6,038 27,832 ,000 ,669 ,111 ,442 ,896

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Equal variances
assumed

Equal variances
not assumed

Number of dependents

Number of plots at TO

Number of plots

Household sells
food/cash crops at T0

Household sells
food/cash crops

F Sig.

Levene's Test for
Equality of Variances

t df Sig. (2-tailed)
Mean

Difference
Std. Error
Difference Lower Upper

95% Confidence
Interval of the

Difference

t-test for Equality of Means

�
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Paired Samples Test

-195,645 211,61705 45,11691 -289,470 -101,819 -4,336 21 ,000

1359,696 883,28751 188,31753 968,06862 1751,324 7,220 21 ,000

11992,71 9643,94025 2056,095 7716,826 16268,59 5,833 21 ,000

11,36364 53,30018 11,36364 -12,26834 34,99561 1,000 21 ,329

-89,46273 237,52633 50,64078 -194,776 15,85055 -1,767 21 ,092

,18182 ,50108 ,10683 -,04035 ,40399 1,702 21 ,104

Total annual labour on
farm per adult equivalent
- Total annual labour on
farm at T0 per adult
equivalent

Pair 1

Total annual labour per
adult equivalent - Total
annual labour at T0 per
adult equivalent

Pair 2

offincadj - offincadj_T0Pair 3

inccashcrpadj -
inccashcrpadj_T0

Pair 4

incfoodcrpadj -
incfoodcrpadj_T0

Pair 5

sellcrp_T0 - sellcrpPair 6

Mean Std. Deviation
Std. Error

Mean Lower Upper

95% Confidence
Interval of the

Difference

Paired Differences

t df Sig. (2-tailed)
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Group Statistics

21 1,95 1,627 ,355

22 2,32 1,555 ,332

21 3,95 1,802 ,393

22 2,27 1,518 ,324

21 3,95 1,802 ,393

22 1,91 ,971 ,207

21 ,71 ,463 ,101

22 ,23 ,429 ,091

21 ,71 ,463 ,101

22 ,05 ,213 ,045

20 50,50 15,676 3,505

22 43,64 14,184 3,024

21 2,33 2,689 ,587

22 2,27 2,292 ,489

21 3,19 2,015 ,440

22 3,95 2,360 ,503

21 3,52 2,040 ,445

22 4,41 2,039 ,435

21 47,38 16,277 3,552

22 38,91 11,804 2,517

21 ,33 ,658 ,144

22 ,82 ,907 ,193

21 ,24 ,436 ,095

22 ,91 ,294 ,063

21 ,24 ,436 ,095

22 1,77 1,020 ,218

21 ,81 ,750 ,164

22 1,05 ,722 ,154

21 2,38 ,740 ,161

22 2,55 1,711 ,365

21 ,10 ,301 ,066

22 ,05 ,213 ,045

21 ,00 ,000 ,000

22 ,05 ,213 ,045

21 2,10 ,301 ,066

22 2,23 ,429 ,091

21 ,00 ,000 ,000

22 545,45 1765,470 376,399

21 ,00 ,000 ,000

22 1863,64 3758,108 801,231

21 4,67 1,528 ,333

22 2,55 1,870 ,399

21 4,67 1,528 ,333

22 3,50 1,535 ,327

21 3,57 4,686 1,023

22 2,59 3,554 ,758

21 ,05 ,218 ,048

22 ,91 2,136 ,455

21 ,10 ,301 ,066

22 ,05 ,213 ,045

21 ,3357 ,16866 ,03680

22 ,4605 ,26832 ,05721

21 ,4633 ,50023 ,10916

22 ,5741 ,48210 ,10278

21 1137,83 675,927 147,499

22 926,33 1079,180 230,082

Village of household
Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Ngolene

Nzeve

Number of dependents

Number of plots at TO

Number of plots

Household sells
food/cash crops at T0

Household sells
food/cash crops

Age household head

Education household
head

Household size at T0

Current household size

Average adult age

Education category 6-18

Labour to plantation

Nr. of household
members at plantation

Number of durable
assets

Number of dwellings

The main dwelling has
durable walls (Mtc)

The main dwelling has a
durable roof (Mtc)

Nr. of meals per day

Annual income
remittances (Mtc)

Annual costs remittances
(Mtc)

Nr. of different crops at T0

Nr. of different crops

Number of chicken

Number of ducks

Number of goats

Farm size (ha)

Number of durable
assets per adult
equivalentAutoconsommation per
year per adult equivalent
(Mtc)

N Mean Std. Deviation
Std. Error

Mean

�


